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1. Please describe effective temperature and the wet bulb globe temperature. (10%)

2. The lower explosive limit (LEL) for acetone (MW: 58 g/mol) is 2.5% and the 8-hour TWA is 1780
mg/m?. What is the 8-hour TWA for acetone in ppm? (5%) At 3% LEL, what is the acetone

concentration (in ppm) in air? (10%)

3. Please link the following three workplaces (1. pharmaceutical clean room 2. ambient environment 3.
Pouliry farm) to three different level of bioaerosol concentration below? (9%) Should we use high or
low flow rate sampler when sampling low concentration environments? Please also explain the reason.
(6%)

(a) Low concentration (<100 CFU/m?)
{(b) Medium concentration (100-10000 CFU/m?)
(¢) High concentration (> 1000 CFU/m?)

4. How do we use the 95 percent lower confidence limit (LCL) and/or upper confidence limit (UCL) in
comparison with the permissible exposure limit (PEL) to
(1) determine if the workplace is over the permissible exposure limit (PEL)? (10%)
(2) determine when we need to starf using control methods? (5%)

5. What are the differences and similarities between 1/1 octave band analyzer and 1/3 octave band
analyzer? (10%)

6. Inthe duct below where the flow direction is from the left to right, the velocity measured at point A and
B are both 16 m/s. Please compare the (1) velocity pressure (5%) (2) total pressure (5%} (3) static

pressure (5%) of point A and B. Please also explain your reasons.
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